TS SET

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Subject Name : EARTH SCIENCES

Duration : 180

Total Marks : 300

Display Marks: Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : Yes

Highlighter : No

Auto Save on Console? Yes

Change Font Color : No

Change Background Color : No

Change Theme : No

Help Button : No

Show Reports : No

Show Progress Bar : No
Group 1

Group Number : 1

Group Id : 51714477

Group Maximum Duration : 0

Group Minimum Duration : 180

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 300

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
Paper I

Section Id : 517144153



Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear
Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

1

Online
Mandatory
42

42

100

Yes

0

1
517144472
Yes

null

Question Number : 1 Question Id : 51714411568 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

A classroom consists of students from diverse cultural backgrounds. How should
a teacher address cultural differences to create an inclusive learning environment?

Select all that apply.

¥ #8558 Kasd S0 Desg ﬂvo"%@é 5aﬁﬁﬁéoﬁ@ eotrdh 5%t % %o‘@é’%é
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Options :

Ignore cultural differences to maintain uniformity

1.

w WEEEHE5 o) f‘ﬁ@@@é Boredy DEaEd

Incorporate culturally relevant examples and materials.
- Qnoééé'%é Jomod Grrsrdnen, Hnden SrothiHderd.

Design assessments that favor a specific cultural group.

3. %

(&85 ﬁno@éﬂéé D3rsPanNt shtoshen SrHtend Johd.

Assign group projects exclusively within the same cultural group.

@8 HHrdESnet, JeshrdE cﬂné%@?ﬁj 50igD.

Question Number : 2 Question Id : 51714411569 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0



You have a student who consistently struggles with written assignments but excels
in verbal discussions. How can you support this student's learning needs? Select
the best options.

a8 Dogd (eSIeEE ©SDo8E Kb Herh =0 S SKeE® arrr B
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Options :

Provide only written assignments to improve their skills.

. a0 BDesgo 0 (eSS ©RDoty 0
1.

Allow them to demonstrate understanding through verbal presentations.

- HPE (HBGRe oo J0ED e edsedo o0aTed

Discourage verbal participation to encourage writing practice.
Srgrdione srdihé her)irddd) 8 oddnid EP8)iromed,

3. %
Assign extra written assignments to enhance their skills.
. 80 B Eox B8 DB DD ©S55D (@78 © D0y oD

Question Number : 3 Question Id : 51714411570 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a primary advantage of online teaching methods?
aSBS B8 Hehe (@rEdnE (HIradhd

Options :

Reduced flexibility in learning schedules.

L% &02,335?6510 316&133‘@6’5 e‘_ﬁﬁoi’}é

Limited access to resources beyond the classroom.

. 558 KB SendHe HHHeH HBHA (HJFH0
2.

Increased accessibility for remote learners.

3@ 0eirE egrgdHo oD 5385w

Decreased need for active student engagement.
Boh&E Dogd P56 SAD ©5580
4. % @ 0 0



Question Number : 4 Question Id : 51714411571 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

You're a college student interested in learning new skills beyond your curriculum.
Which platform would be most suitable for you to access a wide range of courses?
oy &8 Bwedve Dugd rEgoaeR8 SJende B°E Jdhmeld egftboldsoT.
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Options :

Traditional Classroom teaching
FrolHurahd $855a Kos® §%5%

1. %
SWAYAM Prabha
- SN evelhstal
MOQOCs
- 6
Traditional textbooks
L% ~ro(siaechE areeod shsten

Question Number : 5 Question Id : 51714411572 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main principle behind a choice-based education system?
aonE esrbd oy ;’ﬁg@ o“mﬁisééo

Options :

A single standardized curriculum for all students
Sllale RAayeraiy 2.8 Eyjopet o

1. ®

Limited options for students to choose from
Doegthen SohE THE DD HBWEE® ErdS pYKen

Allowing students to select courses based on their interests and goals

S 988, ool HBod oghetH 556336363 JoDE BB e
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Assigning subjects randomly to students

L @G%d@)ﬂéj cﬁﬁﬁﬁe‘}ﬁbéorw DA% BeranoH

Question Number : 6 Question Id : 51714411573 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

"Objective"” in research means:
"508858 " & m@gﬁvém EhaTan
Options :

Researchers can include personal biases in their findings.
5885%5%en @vdn EfTsy) oD STt SEaraEren ﬁéjéfﬁ)&

1. %
Research findings are based solely on intuition.
588085687 LHRf3D smggorne @0&565;%—;’.3 esgednaron.
2.

Research aims to uncover facts without being influenced by personal feelings
or opinions.
588058 ofsen, 35818 griden, ofgroired? Hrddo ssHow TP ETPERD

;v 3088550

Researchers are free to manipulate data to support their beliefs.
& H88°%5en a6 Syeredirbeore eaRoR)) 8855 ).

Question Number : 7 Question Id : 51714411574 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does the post-positivist approach emphasize in terms of research
methodology?

568%5% ;’}gaéxnéaom éﬁﬁ%évﬁe&% :ﬁgéﬂcﬁeﬁn )80 ﬁ%ﬁ@o&

Options :
Avoiding any form of data collection
S0l 8B E0HhE e

1. ®

Using only qualitative research methods

. rheare)s 568555 a’:lgr:i]@ﬁ HI@PHOHE
2.



Incorporating multiple methods and perspectives to enhance understanding

50 DO DoHLE oo Do, :ﬁ\gsémﬁ@ﬁj PR
3. @ @ e

Strictly adhering to predetermined hypotheses without adaptation
4% £ E8dore dwothre ﬁgo:::lo{}é éﬁét}seﬁaﬂ o850

Question Number : 8 Question Id : 51714411575 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What should the intfroduction of an academic article or thesis accomplish?
2.8 Doy o el 588080 o550 el HBSAED A8 oD

Options :

Present all the research findings in detail

| O DOFES EHFH0DH Do .

Provide background information and context for the study
, @ BE5eHarl8 ﬂéfﬁéa’m, Dotigsn Soard.

Include personal opinions and biases
581 graren, Hfarecen Sendaced.

Include a summary of the entire article or thesis

4% swogo a5, B85 Gw¥) Solfsro towed

Question Number : 9 Question Id : 51714411576 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The purpose of the "Introduction” section in a research article is to:

508G ath)oeS’S " HBHBa%0 " grisin ﬁé@%’a’m.

Options :

Present the results and findings of the study

. ©i5dhd) Phere, EHA%) ardd =



Provide an overview of the research methods and procedures
5880 écgr’_’;oen, (B8oche éUDéb’}éjﬁ Enonairgd

Discuss potential limitations of the study

- egigchids) Kogrdly HBdhéhesn SByowrd

Introduce the research topic, its significance, and research objectives

4 588850 wodo, wd [@ranggs, ool ogzen B0ard.

Question Number : 10 Question Id : 51714411577 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does the term "research methodology" refer to?
5B8%5% 5}%% &7

Options :

The analysis of research results
58858 Hhare E)é&ca

The type of paper used for writing research reports
, % 208G B (EFeHed s5@PRoD SASDH B85

The overall approach and techniques used in the research

- $568%556° ar8% Fmdo g0, rosaen

The process of data collection
Sepod DESs (HIBSH

4.

Sub-Section Number : 2
Sub-Section Id : 517144473
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714411578 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

115008 (Bodd mxx@bd Sirardo egrdore Q. 11:&06 Q. 15 [HEod Jdrgraren

[Eglerilelnt

It was early morning, and the rays of the rising sun had scarcely yet caught the roofs of
the city of Perugia, when along the winding road which led across the plain a man and a
boy walked with steady, purpose like steps towards the town which crowned the hill in
front.

The man was poorly dressed in the common rough clothes of an Umbrian peasant. Hard
work and poverty had bent his shoulders and drawn stern lines upon his face, but there
was a dignity about him which marked him as something above the common working
man.

The little boy who trotted barefoot along by the side of his father had a sweet, serious
little face, but he looked tired and hungry, and scarcely fit for such a long rough walk.
They had started from their home at Castello delle Pieve very early that morning, and the
piece of black bread which had served them for breakfast had been but small. Away in
front stretched that long, white, never-ending road; and the little dusty feet that pattered
so bravely along had to take hurried runs now and again to keep up with the long strides
of the man, while the wistful eyes, which were fixed on that distant town, seemed to
wonder if they would really ever reach their journey end.

2.8 Boarthaednd, &tonod el B8eren &I Hiifo  ang) e
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Sub questions

Question Number : 11 Question Id : 51714411579 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



One early morning, two people walked towards the town with a
pace.
&8 Soarthersmsd a3 difen 26890 FoY D&,

Options :

faltering
o StatHér

slow
E.‘:‘é}é&ﬁv

hesitant
3 % PN L= w9l Vi

stable
eSore
[A]

Question Number : 12 Question Id : 51714411580 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The older man in rough clothes had a demeanour about him.
et Hied? &) Sold DBEH BOA St

Options :

friendly

=
o S

decent

) o TPESEERS

aggressive
BrED

3. %

offensive
4 % Estnvlalste

Question Number : 13 Question Id : 51714411581 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The older man was a by occupation.
o8 HS 65:: ©0D GOLTED.

Options :

farmer

v B9

teacher
ST ARPAL Y

messenger
il

baker
Ealota)

Question Number : 14 Question Id : 51714411582 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The phrase ‘wistful eyes’ means
WarEghd B8y’ oy S8 Slele)

Options :

thoughtless
esP5580

1. %

thoughtful

tﬁé’séaﬂééé{?_}é
2.9

disappointed

;3 % No°F
disillusioned
4% &5 HeH

Question Number : 15 Question Id : 51714411583 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



The phrase- ‘the town which crowned the hill in front’ means, the town looks like a
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Options :
piece of jewel

esgfHea0
1. ¢

mirage

unreachable

- SHEBDH

distant
e Srsost & o
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Sub-Section Number : 3
Sub-Section Id : 517144474
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 51714411584 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Being during communication with others can build a sense of
trust and respect.
BEHE 5333353“@&5 Jo HHoahosd Sotitio Hexd Kaéjééo bnslalevsy)
°8ard)) osrobolieh.
Options :
genuine

| ¥ 3)-5535%@5}0@

polite

5 % SVepNaty eli=lelay

uncertain
3 % HoBEnSd



friendly
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Question Number : 17 Question Id : 51714411585 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

communication is the excess meanings of utterances or
messages received by students without the teacher's awareness.
ééﬂé@éﬁE b ﬁfﬂﬂg‘gdi}]@ Sabaho BomEd sBiod
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Options :

Controlled
| %  NcDHoBodods

unintended

, o OBODETEEDS

procedural
DTRG0

content
DASHEZnED EriS

Question Number : 18 Question Id : 51714411586 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Successful intercultural communication depends greatly, when one
other cultures.
=sle] ﬁoé&@réjmz’g SO0 Do, E}Géé‘goﬁ&% NOZPRIED
©5H0%en Bore FHEod.
Options :
praises
L% L. (eYs!
respects
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practices
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Question Number : 19 Question Id : 51714411587 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
barriers are the most obvious barriers in communication that
can be easily resolved.
éénéﬁ}é;iﬁéﬁ ©FoDHen ©&508 NRHPL HOdn hedorre
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Options :

psychological
1% SR

emotional
) % SO

linguistic

- ePapPa0o

physical
4o TEE

Question Number : 20 Question Id : 51714411588 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Music , television, and films are the forms of media that play an
important role in shaping cultural norms and values.
Hohdo, B8DNsS bt SoR decen BreeisEno s Sraren.

a8 Fropss (Hreren DB Dendodh Erirobostod® Snegmis
ar|s &88row.
Options :

Entertainment



information
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education
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traditional
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Question Number : 21 Question Id : 51714411589 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
4,8,24,120,840,

Options :

| % 8400

8840

2. %

9240
3. ¢

, % 8640

Question Number : 22 Question Id : 51714411590 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
LMZ, NYO, XPQ, RSW,
Options :

TUV

1. %

7 ¢ TVU

VTU

3. %
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Question Number : 23 Question Id : 51714411591 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In a certain code language if the word CABINET =70 and BEAUTY = 60 then
PRODUCTION =
Q0 6 2065 CABINET = 70 <HB05%) BEAUTY = 60 250 e000d
PRODUCTION = ____

Options :
90

1. %

100

;% 110

120

Question Number : 24 Question Id : 51714411592 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Shashi and Sudha enter into a partnership with equal investments. is the
share of Shashi in the annual profit of Rs. 44,000.

33 SDOAN NG DS DEPDLVOSE 27T 5050658 (HSTDD. 0%
er2506Y 33 e (. 44,000 200 965 2R DEVDR

Options :

22,000
1. ¢

23,000

21,000

3. %

19,000



Question Number : 25 Question Id : 51714411593 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A profit of 12% is made by selling an article for Rs. 50.40. The cost price of the
articleis ____
2,8 0560090 B3.50.408 0502650 TP 5T° 12% 7350 HeN0B. 8 630N
/LY, OG _

Options :

1. ® 8

L 5645

;% 44.35

4.\;'_/45

Question Number : 26 Question Id : 51714411594 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements:
Some true are not false.
Some false are not real
ESELATNIOW
) Qzren @220 5%,
5 DTCD PReI0 5%
Conclusions
l. Some real are frue.
I. Some real are definitely false.
TN [T )]
. Q) daren.
1. 50 Q2ren D) )SHOrT e92Q0

Options :
| |follow
, w Ilfollows

Both | & || follows.



MNeither | nor Il follows
4.

Question Number : 27 Question Id : 51714411595 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a class, 72 students drink only tea, 50% of the students drink coffee, 25% of
the students drink both tea and coffee and 5% of the students drink neither tea
nor coffee. What is the total strength of the class?

2.5 3305 72 D0 Do &3 SFHsH S HErs, 50% S0
Deshen 520 THE D, 25% H0O Derden ¢3 HOO 55 BodoE3d
DT DO 5% D0 Dasthen &3 B e TD. 5ied TB0E),
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Options :

160
1. ®

2. 180

- 140

4% 120

Question Number : 28 Question Id : 51714411596 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my mother's sister's only sibling’s father related to me?
S €950 TOO DIE S20eP) H0(BE T8 DoOE0 DNE3?

Options :
Father

, % dJncle

Father-in-law



Grandfather
4.

Question Number : 29 Question Id : 51714411597 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No
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Which of the following is not a necessary step when you present an argument
based on inference before the others according to the Classical Indian School of
Logic?

TES 20AAHS S D e85 (HSE0 WD VBB SN0 ST
STEOTP 2.8 TS0 DB I0DDD I &2 1800 73S DA @05OETD
& 52C0?

Options :

| = Nigamana

) Upamana

; % Upanaya

4% Udaharana
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Which one of the following expresses Vyapti (relation of invariable
concomitance?

BoOE3S’ DA R S355DHN0A (A0S D IFS0 T
DOV0G0).

Options :

The relation of invariable concomitance between mountain and fire
DG e, @) 8 20 DBACHTR) SO0

The relation of invariable concomitance between mountain and smoke
DG D8, SFHE DEE DGACHTA HoDOLO

2. %



The relation of invariable concomitance between fire and smoke
eofi) &, &80 DG &) D000

The relation of invariable concomitance between perceiver and the smoke
HISFODBE, srH8 08 G0 D00 20LIsTLe

4, =
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given
below.

Ha0E: 1808 Q5520800 Nrtrdo esmrdorr Q. 31 «00G Q. 35 (04080
QTPEIEe (PO 0EG.

A company has six branches numbered I, II, lll, IV, V and VI located in six different
places. Each branch utilises the telephone services of six different providers A, B,
C, D, E and F. The number of telephone calls made on 28th September 2008,
between 10.00am to 11.00 am between any two different branches were recorded
and are as given in the graphs below. It was also observed that from each branch
there were at least two outgoing calls through each service provider to every other
branch and there were at least two incoming calls through each service provider
from every other branch.

Calls made through a service provider at any branch can be received through the
same service provider at any other branch.
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B BVOFS O How: 850 TAHDA0E HOAW € M RS
2DIN DO G0EFaw. (D 12370 OB (DB QB T 2.8 S8R
IR0 T sor 000 Bod EFonofl SN &) 0HR) SO (e
2658 TP 0B &8 DO IFIAE o0 EAN0 Bot 2SEON sTSen
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What is the maximum number of incoming calls from any single branch received
by any other branch through any single service provider

2 28) (2P0 A0 ©0NT® o) 2.5 V05N |TFIB0 P50 o WSS THEY
SN (10 Ho S VIEON ) DOCH

Options :

1= 41

43

2. %

45

52
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What is the maximum number of calls made from branch Il to branch vV
1220 1l OA 127080 VE TN 57O (1Be) DO DOeh ?

Options :

| % 127

141

2. ®
;% 131

104
4. ¢
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What is the maximum number of calls made through service provider B, from any
one branch to any other branch

HOLR 17RO B o500, DB 2.8 12708 0B 00 QehS 127008 TR
SO (100 DOWE Oeh ?

Options :

w127

2.v 29

3 % 36

4% 18
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If branch VI has received the |least number of calls from branches | and |l, then

what is the maximum number of calls received by it from the other given
branches

20D VI SD0G 200D 1 005D 11 50 @963 85020 PO
2£5B0DIL0NB, RBS 20T H0G T8 @0oEIS) 10R S
QOYE )OEB?

Options :

| 158

, % 162

174
3.¢

. x 176
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What is the minimum number of calls made from branch1 through service
provider C to branches Il 1l or VI

SO 1B 0 C T (27001 oG I, [l BT VI 2PoDe 50 B 0
SO DOWE O

Options :
1.v 8

10

2. %

14
4, ®
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The process of transferring files from Internet to user computer is called ........
5068)8) ok €50aR) Boagtathty P S8DoHe

Options :

Uploading
w5 EoiH

Downloading

568 oih
2.9

Terminating
Eﬁéﬂﬁom

3. %

Mone of the above

. 2380 =)
4.
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Which protocol is commonly used for sending email messages?
3 onen YO ArprdnonT GR@rRodD (Erttsed ?

Options :

SMTP
1. ¢

HTTP

2. %

, x TCP

FTP
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Digital Initiatives that focuses on the development of open-source software?
828 RPG) g6 @é]o“}e)%eﬁﬁ Brbod Sabd FEHen?

Options :

e-PG Pathasala
5-58 ST

~ NPTEL
L

3 ¥ FOSSEE

Mone of the above

L 239 =2
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Information and Communication Technology includes..............
Sdrerd HBAn aroe FFosdEsS° ol samb.

Options :

Online learning

- 8RB ©FF e

Web Based Learning

- 3D oprdd egrsien

Learning through the use of EDUSAT

- QDD Toe egrgien

All of the above

2
4 BT
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RAM is placed on .......
ik 80D sodhad

Options :

Hard Disk
1. %

, % USB

3 Mother board

Extension board
4, %
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How many Goals are there in the Sustainable Development Goals?
DeBE @é]&’:@% @5"5@66 o)d)) Ogmen Gonon ?

Options :



27

37
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Name the day that is celebrated as the World Environment Day
(53503 sreedter HHHD IHEH athHHSH &

Options :

June 51
1.+ wmg o

June 6t
S 6
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Which of the following methods can be used to increase the supply of usable,
good quality water?

& BIDS S8 & éigé TRO° ST Snod) ﬁacanaﬂéé 5B H8Hod
Dodnesn?
Options :



Chilorination

| x 5035
Cloud seeding
=& H&ord

2.4 ™
Metallurgy
Seoerd

3. =
Filterisation

. bepdss
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How many distinct types of actions are defined as part of Disaster
Management?

DHE AeTees griforr ) DPY) Sseer Sdgen @55505@6;031

Options :
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To which Government the Ministry of Environment and Forests is the nodal
agency?
o) [@ghaxd8 ararddes, 9638) &bﬁ][% FES Ei}eafgjrsﬂ a58a05080

Options :



To the State Government

L% Dﬂ@_ (B3hes=08

To the Central Government

5 Bol&S S58Hee8

To United Nations
SIBE I8

3. %

To Union Territories
4, w  CrQchd 8866
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Which among the following is the ancient university?
% (Bob 7J8° DB 1D D& DTegoehdm

Options :

% Lalitgiri

) MNalanda

3 % Ratnagiri

Udayagiri
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Ministry of Human Resources Development (MHRD) renamed as....
38 Dadthe &n@&i&% S0o(@B&; Fog S0°0D 2%

Options :

Ministry of Human Development
a’aﬁém&a’%}% 00|88 Ty



Ministry of Higher Education
- &) oy DoBSy TP

2. %

Ministry of Education

3 Doy olBesy Fog

Ministry of Human Capital

4% S8 e o8& T
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Which of the following learning programmes focuses on the study of ancient

Indian scriptures and spiritual practices?
& BIDS o egrgd sedEHEm, @ er88 ([Kogren, sl odine

5@%@?}6@?0}3
Options :

Yoga

L adoe i

Architecture
P BensE

Pharmacy
TAgren

Commerce
m&%m@&’m
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ElA is stands......
ElA e&Hme

Options :



Environmental Interest Assessment

1. ®
Environmental Impact Assessment
2.¢
- Environmental Interaction Assessmen
. Environmental Impact Analysis
4.
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Distance education is not
eﬁjnéa}cszg =of6
Options :

Telemetric teaching
|« DODIEE FES

Distance study
- B8 eisahido

Work oriented education
7 D) eaprdd D

3.
De-schooling
& - Smboih
4. %
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Isostacy maintains a balance between and ?
Options :
Coriolis Force and Gravitational Force
1. %
buoyancy and gravitational forces.
2.
Convergence and Divergence
3. %
Thermal Expansion and Contraction
4.%
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Match the following

A Tundra 1 found in salty areas
B Mediterranean forests

| ]

semi-arid to semui-humid with  winter
rainfall

C Mangroves 3 found in subarctic. humid conditions
D Taiga 4 found near fresh or brackish water
5  found in arctic regions
Options :

| %« A-3 B-2C-5D-2



> A-3 B-4C-2D-5
3 H—=§ B2 B3

=5 =1 =% B3
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In the diagram shown below A & B represent

2.0+
1.87
1.8+
1.44
1.2+
1.0+
0.84
0.5+
0.4+

Prigsure (GPa)

0.2+

T T T T T T
00 200 300 400 500 00
Temperature (*G)

Options :

A represents glaucophane schist facies & B represents eclogite facies

1.
" A represents glaucophane schist facies & B represents green schist facies
2. - e -
A represents green schist facies & B represents eclogite facies
3. %
A represents green schist facies & B represents granulite facies
4. %
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Syneresis cracks are:

Options :



A form of desicecation crack

1. %
_ Atype of trace fossil
2. %
Subaqueous shrinkage eracks
3.
A type of penecontemporaneous deformation feature
4.%

Question Number : 55 Question Id : 51714411624 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

___ magmas are originated by lithospheric upwelling and decompression melting
due to lithosphere extension

Options :

Mid-oceanic ridges (MORs)

1. ¥

Oceanic 1slands
2. ®

Island arcs
3. %

All the above
4. %

Question Number : 56 Question Id : 51714411625 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements:

Statement I: the variation of the Earth's magnetic field is stronger during the day
than that during the mght

Statement II: Magnetic materials become less magnetic on heating

Options :



Statements I and II are true: II explains I

1. ®
Statements I and IT are true: but II does not explain I
2.
. Statement I and IT are false
3.
. Statement I 1s false: IT 1s true
4.
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Magnetic anomaly strips occur symmetrically on either side of the Mid-Atlantic Ridge.
Similar anomaly patterns are difficult to detect in Precambrian terrains because

Options :

1 % Oceans did not exist in the Precambrian

) Precambrian oceanic crust was subducted and consumed
3 %  Precambrian oceanic crust was less dense

4% Mid ocean ridges did not exist in the Precambrian
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S waves move faster through gabbro than granodiorite because
Options :

Gabbro 1s denser than granodiorite but has much higher shear modulus

Granodiorite is denser than gabbro but has much higher shear modulus
2. %



Granodiorite 1s lighter than gabbro but has higher shear modulus

Granodiorite and gabbro have similar densities. but gabbro has higher shear
modulus
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A is a gravity station at 45°N latitude and B is another station 20 km north of A. The
measured gravity value at B 1s 16.2 mgal larger than that at A. Then the elevation at B 1s

Options :

Same as that at A

1. ¢

80 m higher than that at A
2. %

40 m lower than that at A
3. %

80 m lower than that at A
4.%
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The following figure shows the SP anomaly profile across an E-W extending sheet like
conducting body. Which of the following options can best explain the anomaly?

L

N

r —400

Options :

Lead - zinc ore body steeply dipping due north

1. %

Graphite ore body steeply dipping due south
2. %

Copper rich ore body steeply dipping due south
3. %

Nickel rich ore body steeply dipping due north
4.9
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A turbidite deposit contains the following.
A)  Massive bed
B) Lower parallel lamination
C)  Upper parallel lamination
D)  Structure-less mud
E)  Ripple cross lamination
Which of the following represents the correct bottom to top sequence?

Options :

A—PD-B-_FE
1. %



B-A-E-D-C

2. %

A-C-E-B-D
3.

D-C-BE_-B-A
4. %
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Match List-I with List —II and select the correct answer using the codes given below the
lists

List-I List-IT
A Bajada P  Aeolian
B Dreikanter Q  Desert
C Kam R Glacial
D Dolines S Karst
Options :
A-SB-Q.C-R.D-P
1. %
A-Q.B-P.C-R.D-5S
2. ¥
A-Q.B-S.C-P.D-R
3. %
A-Q.B-S.C-R.D-P
4. %
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The Young's modulus of a rock specimen of density 2.7 gm/cc 15 9.72 megabars. The
longitudinal wave velocity (in km/s) in the rock is

Options :

48
1.

5.2
2. %

6.0
3.
4, % -
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The following is a list of important events in organic evolution

A. First appearance of mammals

B. First appearance of fishes

. First appearance of birds

D. First appearance of flowering plants

Which one of the following is correct in ascending stratigraphic order?
Options :
v B —A—»C —D
o A —®B—*( —*D

;3 B—>D—>C —> A

4% B—RE—wp—*p
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A seismic survey is carried out over a region comprising of a sequence of alternating
horizontal layers of shale and sandstone, each having a thickness of 0.5 km with the
shale layer at the top of the sequence. The P wave velocities in shale and sandstone
are 2 km/sec and 4 km/sec respectively. The stacking velocity for a reflection from
the base of the 5™ layer from the top 1s

Options :

0.64 km'h
1.
1.64 km'h
2. ®
2.64km'h
3. ¢
3.64km'h
4. %
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In a mineralized zone. dip angle measurements were carried out along three E-W
profiles at 100 m spacing at three frequencies fl. f2. 3  (f1=f2>£3). The profile
length 1s 500 m. Zero cross over was observed for all the three profiles and for all the
three frequencies at the same location.

Statement I: Conductor extends at least up to the depth corresponding to frequency 3.
Statement I Minimum strike length 1s 200m and strike orientation is N — S.

Which of the following 1s correct?

Options :

Statement I 1s true but statement I 1s false
1.

Statement I is false but statement IT is true
2.

" Both statements I and IT are true
3.



Both statements I and IT are false
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Gravity anomalies of value 0.1 mgal and 0.2 mgal are located at points separated by 300
m and 200 m respectively along a profile across an anomalous body resembling a
horizontal circular cylinder. The depth (in m) to the centre of the cylinder 1s

Options :

50
1.¢
2%

82
3. %

100
4, %
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What is the value of the Earth’s magnetic field (in Oe) at a place where its vertical and
horizontal components are equal if the magnetic field at the equator 1s 0.30 Oe?

Options :

0.38
1. ¢

0.40
2. %

0.42



0.44
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A density log provides a continuous record of a formation’s reaction to medium energy

focussed

Options :

Fast neutrons

1. %

Gamma Rays
2.4

Sound waves
3. %

electric current
4.%
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Which of the following statements is correct?

(i)  Seismic reflection method depends on acoustic impedance contrast
(i1) Gravity method 1s sensitive to lateral density variations

(iii) Magnetic method 1s sensitive to susceptibility contrast

(iv) Electrical method depends on electrical resistivity variations

Options :

Only (i) 1s correct
1. %

Only (if) and (iif) are correct
2. ®



Only (iv) 15 correct

(1), (if). (iii) and (iv) are correct
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Assertion: A Electric potential of earth 1s taken as zero
Reason: R No electric field exits on earth surface.

Options :

Both Assertion and Reason are correct and Reason is the correct explanation for
Assertion

Both Assertion and Reason are correct and Reason is the correct explanation for
Assertion

Assertion 1s correct but Reason 1s incorrect
3.9

Both Assertion and Reason are incorrect
4, %
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went extinct during the K-T extinction

Options :

% Brachiopods

Graptolites

Ammonites
3.9



Trilobites
4.%
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Match the following:

I I1

(1) Cumulus texture (i) Banding and crustification in open space

(2) Exsolution texture (i) Protuberances of replacing minerals with
replaced host

(3) Caries texture (i7i) Spindles or lamellae of one mineral in
another

(4) Cockade texture (iv) Aggregates of minerals with non-
penetrative mineral boundaries

Codes :

Options :

l-wv, 2-m1, 3-11, 441

1. &

1-111, 2-1v, 3-11, 41
2. %

T .
3 % l1-11. 2-111, 3-1. 4-1vy

l-imi, 2-11, 3-1. 41w
4. %
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Global scale events at ~1.8 Ga and 0.9 Ga refer to:
Options :

Amalgamation of supercontinents Columbia and Rodinia

Amalgamation of supercontinent Columbia and fragmentation of Rodima
2.



Fragmentation of supercontinents Columbia and Rodinia
3. %

Fragmentation of supercontinent Columbia and amalgamation of Rodinia
4. %
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Given below are two statements Assertion (A) and Reason (R). Read the statements are

tully and choose the correct codes from those given below :

(A) Raised shorelines are common along the continental and island coasts of Pacific
Ocean.

(R) In these regions tectonic processes are active along the mountain and island ares.

Codes :

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

1. ¢
Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
2. %
. (A) 15 true but (R) 1s false
3.

4 ® (A) 1s false but (R) is true
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Assertion (A) : AFM diagram 1s useful for the study of pelitic rocks.
Reason (R): Pelitic rocks are rich in plagioclase Feldspar and Quartz.

Options :

Both A and R are true and R is correct explanation
1. %

Both A and R are true but. R is not correct explanation
2. %



A 1s true but R 1s false

A is false but R is tiue
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To distinguish between different rock types. a sensor with high resolution 1s best

Options :

Spatial and temporal

1. *®
Spatial and radiometric
2. %
; Spectral and temporal
Spectral and radiometric
4. ¢
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The following table shows a series of measurements made with Wenner configuration
over a layered Earth.
a 5 10 20 30 40 60 80 | 100 150
R. 10 0.7 [ 0.6 | @3 | 0.05 015 |02 ] 0.2 0.2

Which type of curve do the data represent?

Options :

KH type
1. ¢



KA type

2. %

AQ type
3. %

QK type
4. %
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A magnetotelluric survey over a layered structure calculates the apparent resistivity as
1Qm. If the amplitude of the horizontal electric field 1s doubled. then the apparent
resistivity will be

Options :

Doubled

Increased three times

2. %

Increased four times
3.9

Reduced to half
4. %
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Porphyry-type Cu-deposits are associated with

Options :

Mid-oceanic ridge setting.
1. ®



Intra-cratonic rift setting.

2. %

Continent-ocean subduction setting.
3. ¢

Ocean-ocean subduction setting
4.%
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The difference of two refractive indices 1s called

Options :

% Biaxial
Uniaxial
2. ®
Birefringence
3.9
Isoaxial
4.%
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Which rock formation 1s absolutely impermeable?
Options :

Aquifer



Aquiclude

2. %

Aquifuge
3. ¢

Aquitard
4.%
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Columnar joints are also called

Options :

Radial joints

Pyramid joints

2. %

Prismatic joints
3. ¢

Box joints
4.%
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Fold with flattened top is
Options :

Square told



Plateau fold

2. %

Box fold
3.¢

Conjugate fold
4.%
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Whose 1sostasy model 1s used in mid-oceanic ranges?
1) Reid

2) Pratt

3) Taylor

4) Arry

Choose the correct options

Options :

1 only

2 only

-

2.¢

Both3 & 4

None of the above
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In the table given below. identify the correct pair

Plate boundary Type Example
A | Oceanic Divergent F | San Andreas fault
B | Continental Divergent G | Himalaya
C Oceanic- Continental convergence | H | Mid Atlantic Ridge
D | Continent- Continent convergence | I | East African Rift
E Transform T | Andes

Options :

o=l Bl €53 DG, E-F
1.

A—L B=), =G, 0D=F E—-G

2. %

A=H B-GC—F D-I E=]
3. %

A~ B-HC-ILD-SEBE-F
4. %
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The rate of sediment accumulation 1s minimum at
Options :

Continent shelves

1. ®

Continent slopes
2. %

3 % Conftinent rises

Deep-ocean floor
4.
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El Nino southern oscillation (ENSQ) 1s an

Options :

Oceanic process

1. %
) Atmospheric process
2. %
Ocean-atmospheric process
3.¢
Ocean atmosphere-land process
4.%
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Atmosphere of planet Mars is almost entirely made up of CO;. But the surface
temperature of Mars is less than that of the Earth because

Options :

CO; does not act as greeenhouse gas in the absence of other gases

1. %

Of the absence ozone
2. %

Of the absence of voleanic activity
3. %

Mars has a larger orbit than that of the Earth
4.
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Which one of the following minerals in the Moh’s scale of hardness is a silicate
Options :

Apatite

Fluorite

Topaz
3.¢

Corundum
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Which one of the following is not a plate boundary

Options :
Carlsberg Ridge

South East Indian Ridge

2. %

East Pacific Rise
3. %

Ninety East Ridge
4.
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Correct Marks : 2 Wrong Marks : 0

The highest feature on a floodplain are
Options :

Point bars

Meander scrolls

2. ®

Back swamps
3. %

Natural leevees
4, &
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Higher rate of silicate weathering leads to

Options :

Increase in CO; in atmosphere

1. %
Decrease in CO2 in atmosphere
2.¥
Increase in O, in atmosphere
3. %
Decrease in moisture content in atmosphere
4, %
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Which one of the following in NOT a common set of secondary minerals formed by
weathering?

Options :

Hematite. Goethite, Gibbisite

1. %
Goethite, Gibbisite. Gypsum
2.9
Gibbisite. Hematite, Kaolinite
3. %
Kaolinite, Geothite, Gibbisite
4.%
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The degree of freedom at eutectic point of a binary system 1s

Options :

0
1. ®

1
2. ¢

2
3. %

3
4. %
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In the given silicate structure comprising of a chain of Si04 tetrahedra. the ratio of
bridging to non-bridging oxygen atoms 1s

Options :

1:3
1. %

1:5
2. ®

1:2
3.9

Rirt
4. %
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Magmas which show low concentration of large-ion lithophile elements are
Options :

Primary magmas

1. %

Enriched magmas
2. %

Depleted magmas
3.

Primitive magmas
4. %
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The gravity anomaly over a vertical rod (extending down to infinity) buried at a depth of
100m 1s 20 mGal. If the rod 1s buried at a depth of 50 m. the gravity anomaly would be

Options :

15 m@Gal
1. %
10 mGal
2.
40 mGal
3. %
80 mGal
4, &
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Which one of the following statements about Normalized Difference Vegetation Index
(NDVT) 1s incorrect?

Options :

NDVWVI 1s directly related to the percent of ground cover and amount of
biomass.

Greater difference between near-infrared and red reflectance indicates less
R4 vegetation

NDVT values close to zero represent bare soil



Higher values of NDVI represent dense green vegetation.
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Weathering of granite leads to formation of solid residual minerals and release of some
elements as dissolved ions. The elements released are:

Options :

Siand Al

Naand K

2.
Fe and Mn
3. %
4% 51, Al and Fe
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Presence of minerals such as pyrite and uraninite as detrital minerals in sedimentary
rocks suggests that at the time of deposition

Options :

Chemical weathering was not active

Provenance weathered at a fast rate

Atmosphere had about 1% CO,
3. %



Atmosphere had negligible O,

4. ¢
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Applying lever’s rule. determine the liquid and olivine proportion at a point ‘X’ marked
on a given binary phase diagram.

900 L
Lo Ligquud

1700 /

X
T'_'\C I -
1500 /

| Olivine

| KO0

L3004
1205
Fa o R o0 Fiy

40
WL%  Forsterite

Options :

Liquid 60 — Olivine 40

1. #
Liquid 40 — Olivine 60
2. ¢
Liquid 70 — Olivine 30
3. %
Liquid 30 — Olivine 70
4.%
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Detached clouds in the form of white, delicate filaments, mostly white patches or narrow
bands are called as

Options :

Cirrus
1.
Stratus
2. ®
Altostratus
3. %
Stratocumulus
4.%

Question Number : 104 Question Id : 51714411673 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In terms of optical properties which of the following mineral is not from the same
group

Options :

Quartz
1. #

Apatite
2. %

Calcite

Biotite
4.
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Watertalls and rapids along the river course indicates stage of the river.



Options :

L Youthful
Mature
Old

3. %
Very old

4. %
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Which one of the following methods 1s best suited for locating a disseminated sulphide
deposit?

Options :

Induced polarisation method

1. ¢
Self potential method
2. %
Resistivity method
3. %
Equi-potential line method
4.%
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Guano is deposit of phosphate.

Options :



A residual

1. %

An organic
2.

An evaporite
3. %
4% A placer
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What caused the dust and condensing material to accrete into planetesimals?

Options :

Gravitational attraction and collision

1. ¥
Heating of gases
2.
Nuclear fusion
3. %
Rotation of the proto-Sun
4.%
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Consider the following:

(1) Palacozoic era stated about 600 Ma

(2) Reptiles evolved during carboniferous period

(3) Permuian was the longest period in Palacozoic era
Which of the following statements is correct?

Codes

Options :



(1) and (2) only

1. ¢
(2) and (3) only
2. %
(1) and (3) only
3. %
(1). (2) and (3) only
4. %
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On the basis of cross cutting relationship. which one of the followmg statements 1s
correct?

Options :

folding - faulting - unconformity - intrusion
1. ¢

taulting — folding — intrusion — unconformity
2. %
- faulting — folding — unconformity — intrusion

folding — faulting — intrusion — unconformity



Question Number : 111 Question Id : 51714411680 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The characteristic mineral assemblage of eclogite facies is
Options :

Lawsonite glaucophane

1. %
Chlorite epidote
2. %
Omphacite garnet
3.
Garnet diopside
4.%
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Match the following

A) Acicular 1  Garnet
B) Bladed 2 Apatite
C) Prismatic 3  Kyanite
D) Equant 4  Galena

5  Serpentine

Options :

A—-3 B35 €-2 D-4

A= B=3 C— D=1

A=3 B-35 €2 D1



A5 B3 C-2 BD-1
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Direction of gas exchange between air and sea is controlled by
Options :

| % Wind speed

> « Concentration gradient

3 % Sea surface temperature

4 %  Atmospheric turbulence
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Assertion (A): the annual insolation received at the poles i1s less than half of the
insolation received at the equator
Reason (R):  The Talt of the Earth’s axis 1s responsible for this insolation at the poles
Choose the correct answer

Options :

A is correct but R 1s incorrect

1. ®
. A is incorrect but R is correct
2.
Both A and R are correct and R 1s the correct explanation for A
3.¢
Both A and R are correct and R is no the correct explanation for A
4.%
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Match the types of erosion with the process

Types Process
A | Rain erosion P | Deflation
B | River erosion Q | Plucking
C | Glacial erosion R | Scouring
D | Wind erosion S | Sheet wash

Options :

ARy B—5; C=P;: D=0

1. ®

A-QB-P, C-5 D-R
2. %

A—5;B-Q; C-F;D-P
3. %

A-S; B—-R; C-0Q; B-P
4. ¢
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Grains are alkali feldspar and quartz. The length of the figure 1s about 2 em.
The diagram above most likely represents a

Options :

Extrusive 1igneous rock
1. %



Intrusive igneous rock

2. %

Clastic sedimentary rock
3.

Chemical sedimentary rock
4.%
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Describe the plate tectonic settings where you would expect to find andesites:
Options :

Subduction zone
1.«

Continent/continent collision

Spreading center

Transform boundary
4. %
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Which of the following voleanic chains formed at a tectonic setting similar to "A"?

This is a plate tectonic diagram:

CHRAN, contnanta
lithasphans B "‘“D '3""0

P — ﬂ—ﬁ.___hf
MM-‘.’. r.n.!arlt
|II'|D=F|'I'CII'D Ilnnspﬂa-ea

Options :




Aleutian Islands
1.+

Andes Mountains

2, ®

Cascade Range
3. %

Hawaiian Islands
4, ®
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Which of the following rock types 1s depicted in the diagram above?

ox ol = olivine crystals
pl = plagioclase crystals
px

glass px = pyroxene crystals

——— irae
1 mm

Options :

Basalt
1. ¢

Rhyolite
2. ®

Gabbro
3. %

Diorite
4, ®
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The discontinuity between outer core and inner core 1s known as
Options :

Mohorovicic discontinuity

1. %
Conard discontinuity
2. %
3. % Repetti discontinuity
4 Lehmann discontinuity
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Rocks formed at the ridge crests which are younger than 0.69 million years are

Options :

Normally magnetized
1. ¢

Reversely magnetized
2. % )

Neither normally or reversely magnetized
3. %

The information is insufficient to predict the nature of magnetization involved.

4, %
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Esker 1s a type of

Options :



Moraine deposit

1. %

Eolian deposit
2. %

Glacial deposit
3.¢¥

Fluvial deposit
4. %
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Which of the following precious mineral pair has same composition?
Options :

Sapphire — Agate

Ruby — opal

2. %

Sapphire — ruby
3.¢

Ruby — agate
4.%
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Scintillation counter 1s used for

Options :



Seismic survey

1. %
Electrical survey
2. %
Radioactive survey
3. ¢
Magnetic survey
4. %
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The rapid movement of shallow non-cohesive or loose material down a steep slope
following heavy rainfall 1s called

Options :

Creep

Debris flow

2.

Flood
3. %

Landslide
4. %
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Arrange the following volcanic events in chronological order (older to younger).
(1) Rajmahal volcanism

(11) Deccan volcanism

(111) Panjal voleanism

(1v) Malani volecanism

Options :

WV—ii—1—11
1. ¢

11—1v—11—1
2. %

11— 11 —1— 1V
3. %

1— 11— 1l — 1V
4, ®
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The ratio between the number of streams of any given order to the number of streams of
the next lower order 1s known as

Options :

1. % Stream frequency

Dramnage density

3 Biturcation ratio

4 ® Both A) and B)
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Arrange the geological events (a to h and x— v) in chronological order (Older to
younger).

Options :

v beadefghX-Y

> % hgfedX-Y.ach

3 % b,c,X-Y,a. d.e.f g h

4 % a.X-Y.bcdefgh
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Trellis dramage pattern 1s characteristic of structure.

Options :

L% Domal

5 % Fault

4 % 7 oint
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The degree to which a substance can be magnetized 1s determined by 1ts

Options :



| % Magnetic induction

> « Magnetic susceptibility

3 % Magnetic permeability

4 % Intensity of magnetization
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Assertion (A) : Limestone regions standout as elevated features in arid climates and low
lying features in humid climates.

Reason (R) : Limestone is susceptible to chemical weathering and resistant to
physical weathering

Options :

Both A and R are true and R 1s correct explanation
1. ¢

Both A and R are true but, R is not correct explanation

A 1s true but R 1s false
3. %

A is false but R is true
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Assertion (A): Different inorganic and organic structures are formed in sedimentary rocks
Reason (R): The structure “Petrifaction™ is of inorganic origin

Options :

% Both A and R are true and R is correct explanation



Both A and R are true but. R is not correct explanation
2. %

A 1s true but R 1s false

A is false but R is true
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How many total number of pixel values will a 8-bits satellite image have?

Options :

1 % o4
128

2. %
3. 256
7856

4. %
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In the process of image classification which of the following methods result in a greater
accuracy of classes within an image actually matching land use patterns on the ground?

Options :

Automated
1. *

Unsupervised
2. %

Supervised

3. ¢



Raobotic
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Where the shoreline 1s straight for many kilometers littoral drift moves the sand along
the beach resulting in the formation of:

Options :

Pocket beach

1. *
Sandspit
Abrasion platform
3. %
Stack
4.%
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describes the ratio of lateral strain to longitudinal strain

Options :

| & Poisson's ratio

Elastic modulus
2. %

Young's modulus

" Bulk modulus
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In an S-tectonite the strain ellipsoid will be:
Options :

Prolate finite strain

) % Plane strain

Oblate finite stramn
3. ¢

Infinite plane strain
4, %

: No Control Enable : Yes Time interval to
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: No Control Enable : Yes Time interval to

Which type of water exits as continuous film around the soil particles?

Options :

% Hydromorphic
Hygroscopic

2. %

3 % Capillary
Gravitational

4.%
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: No Control Enable : Yes Time interval to

Which one of the following properties cannot be observed using a petrological

microscope?

Options :



Extinction angle

1. ®
 Interference colour
2. %
Lusture
3.¢
Pleochroism
4, %
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To produce precipitation in cold clouds by artificial modification, the following is used
as ice nuclei

Options :

Silver chlonde

Silver 1odide

2. %
. Potassium i1odide
3. %
Potassinm chlorde
4. %
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The average Bouger anomaly for the ocean as a whole 1s
Options :

L Positive

, % Negative



® Zero

Unpredictable
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The most violent voleanoes are referred to as

Options :

Strombolian type

1. %

Vesuvian type
2. %

Hawatiian type
3. %

Plinian type
4.
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Hydraulic gradient beneath A and B during rainy and dry seasons will

Ekvalion ———
rd
i

Aliundurm e Y |

Options :

L% Not vary

Be lower during rainy season than dry season
2. %



Be higher during rainy season than dry season
3. ¢

Change only if rainfall occurs downslope of B
4, %
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What 1s the most common anion in river water?

Options :

% Cl
o ® CO;E_
HCOy
3.9
oz, I
4, % 304
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95. Which of the following graphs correctly depicts the decay of a radioactive parent 1sotope
and the growth of its radiogenic daughter?

Options :

) Ahundan:e_ .




Abundance

3. %
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Which of the following 1sotope ratios get significantly fractionated during evaporation of
sea water?

Options :

87 86
L ® S 5r
16~ (18
. O/ "0
. 4aNd
12,13
4, % LR
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Two minerals. A and B. which do not show solution behaviour (at atomic scales) have
melting temperatures 1200°C and 1000°C, respectively. at one atmospheric pressure. If
they are physically mixed. the temperature of melting of the mixture will be around



Options :
| % 1000°C

1200°C
2. %

Less than 1000°C

Between 1000°C and 1200°C
4, %
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Some minerals form solid solutions between different chemical components. This 1s
because solid solutions. relative to mechanical mixture of the components, have

Options :

Higher free energy

1. *®

Lower free energy
2.¢

Higher covalency of bonding
3. %

Lower covalency of bonding
4.%
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Which of the following mass extinetion events in geological history is associated with
the conspicuous iridium anomaly?
Options :

L% Permian/Triassic



5 % Precambrian/Ordovician

CI'ETHCEOUS. TCI‘Ti ary
3. ¥ Y

Eocene/Oligocene
4.%
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An MT survey was conducted in two areas. having a half-space resistivity of 100 Q m
and 25 Qm, respectively. In the first area. a 100 seconds period signal is required to
investigate up to 50 km depth. The signal period. in seconds. required to investigate
up to same depth in the second area 1s

Options :

100

1. %

, x50

L 200
400

4. ¢



